2 Problem set 2: Due sept 28th
(6) Fit the points
(1.9, -4.7),(—0.8,1.2),(0.1,2.8), (1.4, —1.2), (1.8, —3.5)

by means of a quadratic function f(z) = axz? + bz + ¢, using the least
square method. First, do this step by step, as we did in class; then,
use the built-in Maple command, described in the notes. Check that
the two solutions agree

(7) Fit the points
(1.02, —4.30), (1.00, —2.12), (0.99, 0.52), (1.03, 2.51), (1.00, 3.34), (1.02, 5.30)

with a line, using the least square method we used in class. You will
see that this is not a good fit. Think of a better way to do the fit and
use Maple to do it.



